

Republic of the Philippines

Department of Education

REGION XI SCHOOLS DIVISION OFFICE OF DAVAO ORIENTAL

PHILIPPINE BIDDING DOCUMENTS

PROCUREMENT AND DELIVERY
OF SUPPLEMENTARY LEARNING
RESOURCES TO FUNCTIONAL
ELEMENTARY AND SECONDARY SCHOOL
LIBRARIES IN DEPED SCHOOLS
DIVISION OF DAVAO ORIENTAL
(LOTS 1-2)

Government of the Republic of the Philippines
Sixth Edition
July 2020

Preface

These Philippine Bidding Documents (PBDs) for the procurement of Goods through Competitive Bidding have been prepared by the Government of the Philippines for use by any branch, constitutional commission or office, agency, department, bureau, office, or instrumentality of the Government of the Philippines, National Government Agencies, including Government-Owned and/or Controlled Corporations, Government Financing Institutions, State Universities and Colleges, and Local Government Unit. The procedures and practices presented in this document have been developed through broad experience, and are for mandatory use in projects that are financed in whole or in part by the Government of the Philippines or any foreign government/foreign or international financing institution in accordance with the provisions of the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184.

The Bidding Documents shall clearly and adequately define, among others: (i) the objectives, scope, and expected outputs and/or results of the proposed contract or Framework Agreement, as the case may be; (ii) the eligibility requirements of Bidders; (iii) the expected contract or Framework Agreement duration, the estimated quantity in the case of procurement of goods, delivery schedule and/or time frame; and (iv) the obligations, duties, and/or functions of the winning bidder.

Care should be taken to check the relevance of the provisions of the PBDs against the requirements of the specific Goods to be procured. If duplication of a subject is inevitable in other sections of the document prepared by the Procuring Entity, care must be exercised to avoid contradictions between clauses dealing with the same matter.

Moreover, each section is prepared with notes intended only as information for the Procuring Entity or the person drafting the Bidding Documents. They shall not be included in the final documents. The following general directions should be observed when using the documents:

- a. All the documents listed in the Table of Contents are normally required for the procurement of Goods. However, they should be adapted as necessary to the circumstances of the particular Procurement Project.
- b. Specific details, such as the "name of the Procuring Entity" and "address for bid submission," should be furnished in the Instructions to Bidders, Bid Data Sheet, and Special Conditions of Contract. The final documents should contain neither blank spaces nor options.
- c. This Preface and the footnotes or notes in italics included in the Invitation to Bid, Bid Data Sheet, General Conditions of Contract, Special Conditions of Contract, Schedule of Requirements, and Specifications are not part of the text of the final document, although they contain instructions that the Procuring Entity should strictly follow.
- d. The cover should be modified as required to identify the Bidding Documents as to the Procurement Project, Project Identification Number, and Procuring Entity, in addition to the date of issue.
- e. Modifications for specific Procurement Project details should be provided in the Special Conditions of Contract as amendments to the Conditions of Contract. For easy completion, whenever reference has to be made to specific clauses in the Bid Data Sheet or Special Conditions of Contract, these terms shall be printed in bold typeface on Sections I (Instructions to Bidders) and III (General Conditions of Contract), respectively.
- f. For guidelines on the use of Bidding Forms and the procurement of Foreign-Assisted Projects, these will be covered by a separate issuance of the Government Procurement Policy Board.

Table of Contents

Glossa	ary of Acronyms, Terms, and Abbreviations	3
Sectio	n I. Invitation to Bid	6
	n II. Instructions to Bidders	
1.	Scope of Bid	
2.	Funding Information	
3.	Bidding Requirements	
4.	Corrupt, Fraudulent, Collusive, and Coercive Practices	
5.	Eligible Bidders	
6.	Origin of Goods	12
7.	Subcontracts	12
8.	Pre-Bid Conference	12
9.	Clarification and Amendment of Bidding Documents	12
10.	Documents comprising the Bid: Eligibility and Technical Components	12
11.	Documents comprising the Bid: Financial Component	13
12.	Bid Prices	13
13.	Bid and Payment Currencies	13
14.	Bid Security	14
15.	Sealing and Marking of Bids	14
16.	Deadline for Submission of Bids	14
17.	Opening and Preliminary Examination of Bids	14
18.	Domestic Preference	14
19.	Detailed Evaluation and Comparison of Bids	14
20.	Post-Qualification	15
21.	Signing of the Contract	15
Sectio	n III. Bid Data Sheet	16
Sectio	n IV. General Conditions of Contract	18
1.	Scope of Contract	19
2.	Advance Payment and Terms of Payment	19
3.	Performance Security	19
4.	Inspection and Tests	19
5.	Warranty	19
6.	Liability of the Supplier	20
Sectio	n V. Special Conditions of Contract	21
	n VI. Schedule of Requirements	
	n VII. Technical Specifications	
	n VIII. Checklist of Technical and Financial Documents	

Glossary of Acronyms, Terms, and Abbreviations

ABC – Approved Budget for the Contract.

BAC – Bids and Awards Committee.

Bid – A signed offer or proposal to undertake a contract submitted by a bidder in response to and in consonance with the requirements of the bidding documents. Also referred to as *Proposal* and *Tender*. (2016 revised IRR, Section 5[c])

Bidder – Refers to a contractor, manufacturer, supplier, distributor and/or consultant who submits a bid in response to the requirements of the Bidding Documents. (2016 revised IRR, Section 5[d])

Bidding Documents – The documents issued by the Procuring Entity as the bases for bids, furnishing all information necessary for a prospective bidder to prepare a bid for the Goods, Infrastructure Projects, and/or Consulting Services required by the Procuring Entity. (2016 revised IRR, Section 5[e])

BIR - Bureau of Internal Revenue.

BSP – Bangko Sentral ng Pilipinas.

Consulting Services – Refer to services for Infrastructure Projects and other types of projects or activities of the GOP requiring adequate external technical and professional expertise that are beyond the capability and/or capacity of the GOP to undertake such as, but not limited to: (i) advisory and review services; (ii) pre-investment or feasibility studies; (iii) design; (iv) construction supervision; (v) management and related services; and (vi) other technical services or special studies. (2016 revised IRR, Section 5[i])

CDA - Cooperative Development Authority.

Contract – Refers to the agreement entered into between the Procuring Entity and the Supplier or Manufacturer or Distributor or Service Provider for procurement of Goods and Services; Contractor for Procurement of Infrastructure Projects; or Consultant or Consulting Firm for Procurement of Consulting Services; as the case may be, as recorded in the Contract Form signed by the parties, including all attachments and appendices thereto and all documents incorporated by reference therein.

CIF – Cost Insurance and Freight.

CIP – Carriage and Insurance Paid.

CPI – Consumer Price Index.

DDP – Refers to the quoted price of the Goods, which means "delivered duty paid."

DTI – Department of Trade and Industry.

EXW - Ex works.

FCA – "Free Carrier" shipping point.

FOB – "Free on Board" shipping point.

Foreign-funded Procurement or Foreign-Assisted Project—Refers to procurement whose funding source is from a foreign government, foreign or international financing institution as specified in the Treaty or International or Executive Agreement. (2016 revised IRR, Section 5[b]).

Framework Agreement – Refers to a written agreement between a procuring entity and a supplier or service provider that identifies the terms and conditions, under which specific purchases, otherwise known as "Call-Offs," are made for the duration of the agreement. It is in the nature of an option contract between the procuring entity and the bidder(s) granting the procuring entity the option to either place an order for any of the goods or services identified in the Framework Agreement List or not buy at all, within a minimum period of one (1) year to a maximum period of three (3) years. (GPPB Resolution No. 27-2019)

GFI – Government Financial Institution.

GOCC – Government-owned and/or –controlled corporation.

Goods – Refer to all items, supplies, materials and general support services, except Consulting Services and Infrastructure Projects, which may be needed in the transaction of public businesses or in the pursuit of any government undertaking, project or activity, whether in the nature of equipment, furniture, stationery, materials for construction, or personal property of any kind, including non-personal or contractual services such as the repair and maintenance of equipment and furniture, as well as trucking, hauling, janitorial, security, and related or analogous services, as well as procurement of materials and supplies provided by the Procuring Entity for such services. The term "related" or "analogous services" shall include, but is not limited to, lease or purchase of office space, media advertisements, health maintenance services, and other services essential to the operation of the Procuring Entity. (2016 revised IRR, Section 5[r])

GOP – Government of the Philippines.

GPPB – Government Procurement Policy Board.

INCOTERMS – International Commercial Terms.

Infrastructure Projects – Include the construction, improvement, rehabilitation, demolition, repair, restoration or maintenance of roads and bridges, railways, airports, seaports, communication facilities, civil works components of information technology projects, irrigation, flood control and drainage, water supply, sanitation, sewerage and solid waste management systems, shore protection, energy/power and electrification facilities, national

buildings, school buildings, hospital buildings, and other related construction projects of the government. Also referred to as *civil works or works*. (2016 revised IRR, Section 5[u])

LGUs – Local Government Units.

NFCC – Net Financial Contracting Capacity.

NGA – National Government Agency.

PhilGEPS - Philippine Government Electronic Procurement System.

Procurement Project – refers to a specific or identified procurement covering goods, infrastructure project or consulting services. A Procurement Project shall be described, detailed, and scheduled in the Project Procurement Management Plan prepared by the agency which shall be consolidated in the procuring entity's Annual Procurement Plan. (GPPB Circular No. 06-2019 dated 17 July 2019)

PSA – Philippine Statistics Authority.

SEC – Securities and Exchange Commission.

SLCC – Single Largest Completed Contract.

Supplier – refers to a citizen, or any corporate body or commercial company duly organized and registered under the laws where it is established, habitually established in business and engaged in the manufacture or sale of the merchandise or performance of the general services covered by his bid. (Item 3.8 of GPPB Resolution No. 13-2019, dated 23 May 2019). Supplier as used in these Bidding Documents may likewise refer to a distributor, manufacturer, contractor, or consultant.

UN – United Nations.

Section I. Invitation to Bid



Republic of the Philippines

Department of Education

REGION XI SCHOOLS DIVISION OF DAVAO ORIENTAL

INVITATION TO BID

PROCUREMENT AND DELIVERY OF SUPPLEMENTARY LEARNING RESOURCES TO FUNCTIONAL ELEMENTARY AND SECONDARY SCHOOL LIBRARIES IN DEPED SCHOOLS DIVISION OF DAVAO ORIENTAL (LOTS 1-2)

1. The Schools Division of Davao Oriental, through the Government of the Philippines under FY 2024 Government Appropriations Act intends to apply the sum of Fifteen Million Six Hundred Eighty-Eight Thousand Seven Hundred Twenty-Eight Pesos and 24/100. (Php 15,688,728.24) being the ABC to payments under the contract for the Procurement and Delivery of Supplementary Learning Resources to Functional Elementary and Secondary School Libraries in DepED Schools Division of Davao Oriental (Lots 1-2) broken as follows:

LOT NO.	TYPE OF SUPPLEMENTARY LEARNING RESOURCE	AMOUNT
1	General References and Learning Area References	14,189,878.24
2	Globes, Maps, & Charts	1,498,850.00
		15,688,728.24

Bids received in excess of the ABC shall be automatically rejected at bid opening.

- 2. The Schools Division of Davao Oriental, through the Bids and Awards Committee (BAC), now invites bids for the goods contemplated in this project as detailed in the Schedule of Requirements and the table of Technical Specifications indicated in the bidding documents. Expected completion of delivery of the goods of delivery of goods is within thirty (30) calendar days upon the time of receipt of Notice to Proceed by the successful bidder.
- 3. Bidders should have completed, within *five (5) years* from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II (Instructions to Bidders).
- 4. Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the 2016 revised Implementing Rules and Regulations (IRR) of Republic Act (RA) No. 9184.
 - Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.
- 5. Prospective Bidders may obtain further information from the *BAC Secretariat* and inspect the Bidding Documents at the address given below from **Monday to Friday from 8:00am-5:00pm**.
 - A complete set of Bidding Documents may be acquired by interested Bidders on August 7, 2025 to August 26, 2025, from the BAC Secretariat, DepEd Davao Oriental Division Office,

Government Center, Dahican, City of Mati, Davao Oriental upon accomplishing a bidder's information sheet (Annex A) and payment of the applicable fee for the Bidding Documents for each lot, pursuant to the latest Guidelines issued by the GPPB, in the amount of Twenty-five Thousand Pesos (Php 25,000.00) for Lot 1 and Five Thousand Pesos (Php5,000.00) for Lot 2. Deadline for payment for the Bid Documents shall be on August 26, 2025, at 8:30AM.

6. The Schools Division of Davao Oriental will hold a Pre-Bid Conference for this Project which shall be open to prospective bidders on August 14, 2025, 1:00PM via Google Meet through the link:

https://meet.google.com/mox-wtxs-rgz

7. Bids must be duly received by the BAC Secretariat on or before 8:45 AM of August 26, 2025, at the Madayaw Hall, SDO Dayao Oriental Division Office, Government Center, City of Mati, Davao Oriental.

Late bids shall not be accepted.

- 8. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in ITB Clause 14.
- 9. Bid opening shall be on August 26, 2025, 9:00AM at the Madayaw Hall, SDO Davao Oriental Division Office, Government Center, City of Mati, Davao Oriental. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity. Only one (1) representative per bidder will be allowed to enter inside the venue.

For the purpose of constituting a quorum, both physical and virtual presence of the BAC members shall be considered pursuant to GPPB Resolution No. 09-2020.

- 10. The Schools Division of Davao Oriental reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.
- 11. For further information, please refer to:

Ms. Myrose T. Diansay, AO IV

Ms. Lecelita O. Calvez, EPS II

Ms. Lotis P. Lapez, EPS II

Ms. Donna Jean B. Pilo, Admin. Asst. II

BAC Secretariat of the Schools Division of Davao Oriental Government Center, Dahican, City of Mati, Davao Oriental 09171281166 or davor.bac@deped.gov.ph

12. You may visit the following websites:

> For downloading of Bidding Documents: https://notices.philgeps.gov.ph/

Date of Issuance of Bidding Documents: August 7, 2025

Assistant Schools Division Superintendent and BAC Chairperson

Section II. Instructions to Bidders

1. Scope of Bid

The Procuring Entity, *Procurement and Delivery of Supplementary Learning Resources to Functional Elementary and Secondary School Libraries in DepED Schools Division of Davao Oriental (Lots 1-2)*, with identification number *GS-2025-121*.

The Procurement Project (referred to herein as "Project") is composed of **two (2) lots**, the details of which are described in Section VII (Technical Specifications).

2. Funding Information

- 2.1. The GOP through the source of funding as indicated below for *General Appropriations* Act of 2025 in the amount of Fifteen Million Six Hundred Eighty-Eight Thousand Seven Hundred Twenty-Eight Pesos and 24/100. (Php 15,688,728.24).
- 2.2. The source of funding is the GAA 2025 under ROP-11-25-0865 of the Department of Education. Pursuant to **NBC No. 590**, the funds for this project shall be valid for release, obligation, and disbursement until **December 31, 2025**, subject to any subsequent issuance to this effect.

3. Bidding Requirements

The Bidding for the Project shall be governed by all the provisions of RA No. 9184 and its 2016 revised IRR, including its Generic Procurement Manuals and associated policies, rules and regulations as the primary source thereof, while the herein clauses shall serve as the secondary source thereof.

Any amendments made to the IRR and other GPPB issuances shall be applicable only to the ongoing posting, advertisement, or **IB** by the BAC through the issuance of a supplemental or bid bulletin.

The Bidder, by the act of submitting its Bid, shall be deemed to have verified and accepted the general requirements of this Project, including other factors that may affect the cost, duration and execution or implementation of the contract, project, or work and examine all instructions, forms, terms, and project requirements in the Bidding Documents.

4. Corrupt, Fraudulent, Collusive, and Coercive Practices

The Procuring Entity, as well as the Bidders and Suppliers, shall observe the highest standard of ethics during the procurement and execution of the contract. They or through an agent shall not engage in corrupt, fraudulent, collusive, coercive, and obstructive practices defined under Annex "I" of the 2016 revised IRR of RA No. 9184 or other integrity violations in competing for the Project.

5. Eligible Bidders

- 5.1. Only Bids of Bidders found to be legally, technically, and financially capable will be evaluated.
- 5.2. Foreign ownership exceeding those allowed under the rules may participate pursuant to:
 - i. When a Treaty or International or Executive Agreement as provided in Section 4 of the RA No. 9184 and its 2016 revised IRR allow foreign bidders to participate;

- ii. Citizens, corporations, or associations of a country, included in the list issued by the GPPB, the laws or regulations of which grant reciprocal rights or privileges to citizens, corporations, or associations of the Philippines;
- iii. When the Goods sought to be procured are not available from local suppliers; or
- iv. When there is a need to prevent situations that defeat competition or restrain trade.
- a. Foreign ownership limited to those allowed under the rules may participate in this Project.
- 5.3. Pursuant to Section 23.4.1.3 of the 2016 revised IRR of RA No.9184, the Bidder shall have an SLCC that is at least one (1) contract similar to the Project the value of which, adjusted to current prices using the PSA's CPI, must be at least equivalent to **at least one (1)** similar contract, the amount of which should be equivalent to **at twenty-five (25%)** of the ABC for this Project; and
- 5.4. The Bidders shall comply with the eligibility criteria under Section 23.4.1 of the 2016 IRR of RA No. 9184.

6. Origin of Goods

There is no restriction on the origin of goods other than those prohibited by a decision of the UN Security Council taken under Chapter VII of the Charter of the UN, subject to Domestic Preference requirements under ITB Clause 18.

7. Subcontracts

Subcontracting is not allowed.

8. Pre-Bid Conference

The Procuring Entity will hold a pre-bid conference for this Project on August 14, 2025, at 1:00 PM via Google Meet with meeting link:

https://meet.google.com/mox-wtxs-rgz

9. Clarification and Amendment of Bidding Documents

Prospective bidders may request clarification on and/or interpretation of any part of the Bidding Documents. Such requests must be in writing and received by the Procuring Entity, either at its given address or through electronic mail indicated in the **IB**, at least ten (10) calendar days before the deadline set for the submission and receipt of Bids.

10. Documents comprising the Bid: Eligibility and Technical Components

- 10.1. The first envelope shall contain the eligibility and technical documents of the Bid as specified in **Section VIII (Checklist of Technical and Financial Documents)**.
- 10.2. The Bidder's SLCC as indicated in **ITB** Clause 5.3 should have been completed within *five years* prior to the deadline for the submission and receipt of bids.

10.3. If the eligibility requirements or statements, the bids, and all other documents for submission to the BAC are in foreign language other than English, it must be accompanied by a translation in English, which shall be authenticated by the appropriate Philippine foreign service establishment, post, or the equivalent office having jurisdiction over the foreign bidder's affairs in the Philippines. Similar to the required authentication above, for Contracting Parties to the Apostille Convention, only the translated documents shall be authenticated through an apostille pursuant to GPPB Resolution No. 13-2019 dated 23 May 2019. The English translation shall govern, for purposes of interpretation of the bid.

11. Documents Comprising the Bid: Financial Component

- 11.1. The second bid envelope shall contain the financial documents for the Bid as specified in Section VIII (Checklist of Technical and Financial Documents).
- 11.2. If the Bidder claims preference as a Domestic Bidder or Domestic Entity, a certification issued by DTI shall be provided by the Bidder in accordance with Section 43.1.3 of the 2016 revised IRR of RA No. 9184.
- 11.3. Any bid exceeding the ABC indicated in paragraph 1 of the **IB** shall not be accepted.

12. Bid Prices

- 12.1. Prices indicated on the Price Schedule shall be entered separately in the following manner:
 - a. For Goods offered from within the Procuring Entity's country:
 - i. The price of the Goods quoted EXW (ex-works, ex-factory, ex-warehouse, ex-showroom, or off-the-shelf, as applicable);
 - ii. The cost of all customs duties and sales and other taxes already paid or payable;
 - iii. The cost of transportation, insurance, and other costs incidental to delivery of the Goods to their final destination; and
 - iv. The price of other (incidental) services, if any, listed in the **BDS**.
 - b. For Goods offered from abroad:
 - i. Unless otherwise stated in the **BDS**, the price of the Goods shall be quoted delivered duty paid (DDP) with the place of destination in the Philippines as specified in the **BDS**. In quoting the price, the Bidder shall be free to use transportation through carriers registered in any eligible country. Similarly, the Bidder may obtain insurance services from any eligible source country.
 - ii. The price of other (incidental) services, if any, as listed in the **BDS**.

13. Bid and Payment Currencies

- 13.1. For Goods that the Bidder will supply from outside the Philippines, the bid prices may be quoted in the local currency or tradeable currency accepted by the BSP at the discretion of the Bidder. However, for purposes of bid evaluation, Bids denominated in foreign currencies, shall be converted to Philippine currency based on the exchange rate as published in the BSP reference rate bulletin on the day of the bid opening.
- 13.2. Payment of the contract price shall be made in Philippine Pesos.

14. Bid Security

- 14.1. The Bidder shall submit a Bid Securing Declaration¹ or any form of Bid Security in the amount indicated in the **BDS**, which shall be not less than the percentage of the ABC in accordance with the schedule in the **BDS**.
- 14.2. The Bid and bid security shall be valid for **120 calendar days** reckoned from the date of opening of bids. Any Bid not accompanied by an acceptable bid security shall be rejected by the Procuring Entity as non-responsive.

15. Sealing and Marking of Bids

Each Bidder shall submit one copy of the first and second components of its Bid.

The Procuring Entity may request additional hard copies and/or electronic copies of the Bid.

16. Deadline for Submission of Bids

16.1. The Bidders shall submit on the specified date and time and either at its physical address as indicated in paragraph 7 of the **IB**.

17. Opening and Preliminary Examination of Bids

17.1. The BAC shall open the Bids in public at the time, on the date, and at the place specified in paragraph 9 of the **IB**. The Bidders' representatives who are present shall sign a register evidencing their attendance. In case videoconferencing, webcasting or other similar technologies will be used, attendance of participants shall likewise be recorded by the BAC Secretariat.

In case the Bids cannot be opened as scheduled due to justifiable reasons, the rescheduling requirements under Section 29 of the 2016 revised IRR of RA No. 9184 shall prevail.

17.2. The preliminary examination of bids shall be governed by Section 30 of the 2016 revised IRR of RA No. 9184.

18. Domestic Preference

18.1. The Procuring Entity will grant a margin of preference for the purpose of comparison of Bids in accordance with Section 43.1.2 of the 2016 revised IRR of RA No. 9184.

19. Detailed Evaluation and Comparison of Bids

- 19.1. The Procuring Entity's BAC shall immediately conduct a detailed evaluation of all Bids rated "passed," using non-discretionary pass/fail criteria. The BAC shall consider the conditions in the evaluation of Bids under Section 32.2 of the 2016 revised IRR of RA No. 9184.
- 19.2. The descriptions of the lots or items shall be indicated in **Section VII (Technical Specifications)**, although the ABCs of this lot or items are indicated in the **BDS** for purposes of the NFCC computation pursuant to Section 23.4.2.6 of the 2016 revised IRR

- of RA No. 9184. The NFCC must be sufficient for the total of the ABCs for all the lots or items participated in by the prospective Bidder.
- 19.3. The Project shall be awarded as two (3) separate contracts.
- 19.4. Except for bidders submitting a committed Line of Credit from a Universal or Commercial Bank in lieu of its NFCC computation, all Bids must include the NFCC computation pursuant to Section 23.4.1.4 of the 2016 revised IRR of RA No. 9184, which must be sufficient for the total of the ABCs for all the lots or items participated in by the prospective Bidder. For bidders submitting the committed Line of Credit, it must be at least equal to ten percent (10%) of the ABCs for all the lots or items participated in by the prospective Bidder.

20. Post-Qualification

- 20.1. Within a non-extendible period of five (5) calendar days from receipt by the Bidder of the notice from the BAC that it submitted the Lowest Calculated Bid, the Bidder shall submit its latest income and business tax returns filed and paid through the BIR Electronic Filing and Payment System (eFPS) and other appropriate licenses and permits required by law and stated in the **BDS**.
- 20.2 Bidder shall present samples of the goods to be procured.

21. Signing of the Contract

21.1. The documents required in Section 37.2 of the 2016 revised IRR of RA No. 9184 shall form part of the Contract. Additional Contract documents are indicated in the **BDS**.

Section III. Bid Data Sheet

Bid Data Sheet

ITB															
Clause 5.3	For this pur	pose, contracts similar to the Project shall be:													
3.3	a. Supply of Supplementary Learning Materials														
	a. Suj	oply of Supplementary Learning Materials													
	b. completed within five (5) years prior to the deadline for the submission and receipt of bids.														
7.1	Subcontract														
	Subcontracting shall NOT be allowed.														
12	The price of the Goods shall be quoted DDP (Schools Division of Davao Oriental) or the applicable International Commercial Terms (INCOTERMS) for this Project.														
	Bid prices shall be written in two (2) decimal places only . Bid prices that are written in more than two (2) decimal places shall be rounded off.														
	Results of bid evaluation that will exceed the ABC shall be a ground for rejection of bid.														
14.1		curity shall be in the form of a Bid Securin orms and amounts:	g Declaration, or any of the												
	Lot	The amount of not less than stated below	The amount of not less												
	Number	opposite its respective lot number if bid	than stated below												
		security is in cash, cashier's/manager's check, bank draft/guarantee or	opposite its respective lot number if bid security is												
		irrevocable letter of credit.	in Surety Bond.												
	1	₱ 283,797.56	₱ 709,493.91												
	2	₱ 44,965.50	₱ 74,942.50												
19.3	The Project	shall be awarded by lot, detailed as follows:													
	LOT NO.	TYPE OF SUPPLEMENTARY LEARNING RESOURCE	AMOUNT												
	110.	General References and Learning													
	1	Area References	₱ 14,189,878.24												
	2	Globes, Maps, & Charts	₱ 1,498,850.00												
			₱ 15,688,728.2 4												
20.2	The bidder	shall submit the following permits:													
		(refer to technical specifications & checklist requirements)	of technical and financial												

Section IV. General Conditions of Contract

1. Scope of Contract

This Contract shall include all such items, although not specifically mentioned, that can be reasonably inferred as being required for its completion as if such items were expressly mentioned herein. All the provisions of RA No. 9184 and its 2016 revised IRR, including the Generic Procurement Manual, and associated issuances, constitute the primary source for the terms and conditions of the Contract, and thus, applicable in contract implementation. Herein clauses shall serve as the secondary source for the terms and conditions of the Contract.

This is without prejudice to Sections 74.1 and 74.2 of the 2016 revised IRR of RA No. 9184 allowing the GPPB to amend the IRR, which shall be applied to all procurement activities, the advertisement, posting, or invitation of which were issued after the effectivity of the said amendment.

Additional requirements for the completion of this Contract shall be provided in the **Special Conditions of Contract (SCC).**

2. Advance Payment and Terms of Payment

- 2.1. Advance payment of the contract amount is provided under Annex "D" of the revised 2016 IRR of RA No. 9184.
- 2.2. The Procuring Entity is allowed to determine the terms of payment on the partial or staggered delivery of the Goods procured, provided such partial payment shall correspond to the value of the goods delivered and accepted in accordance with prevailing accounting and auditing rules and regulations. The terms of payment are indicated in the SCC.

3. Performance Security

Within ten (10) calendar days from receipt of the Notice of Award by the Bidder from the Procuring Entity but in no case later than the signing of the Contract by both parties, the successful Bidder shall furnish the performance security in any of the forms prescribed in Section 39 of the 2016 revised IRR of RA No. 9184.

4. Inspection and Tests

The Procuring Entity or its representative shall have the right to inspect and/or to test the Goods to confirm their conformity to the Project specifications at no extra cost to the Procuring Entity in accordance with the Generic Procurement Manual. In addition to tests in the SCC, Section VII (Technical Specifications) shall specify what inspections and/or tests the Procuring Entity requires, and where they are to be conducted. The Procuring Entity shall notify the Supplier in writing, in a timely manner, of the identity of any representatives retained for these purposes.

All reasonable facilities and assistance for the inspection and testing of Goods, including access to drawings and production data, shall be provided by the Supplier to the authorized inspectors at no charge to the Procuring Entity.

5. Warranty

5.1 In order to assure that manufacturing defects shall be corrected by the Supplier, a warranty shall be required from the Supplier as provided under Section 62.1 of the 2016 revised IRR of RA No. 9184.

5.2 The Procuring Entity shall promptly notify the Supplier in writing of any claims arising under this warranty. Upon receipt of such notice, the Supplier shall, repair or replace the defective Goods or parts thereof without cost to the Procuring Entity, pursuant to the Generic Procurement Manual.

6. Liability of the Supplier

The Supplier's liability under this Contract shall be as provided by the laws of the Republic of the Philippines.

If the Supplier is a joint venture, all partners to the joint venture shall be jointly and severally liable to the Procuring Entity.

Special Conditions of Contract

	Special Conditions of Contract
GCC Clause	
1	Delivery and Documents –
	For purposes of the Contract, "EXW," "FOB," "FCA," "CIF," "CIP," "DDP" and other trade terms used to describe the obligations of the parties shall have the meanings assigned to them by the current edition of INCOTERMS published by the International Chamber of Commerce, Paris. The Delivery terms of this Contract shall be as follows:
	The delivery terms applicable to the Contract are DDP. In accordance with INCOTERMS." The delivery terms applicable to this Contract are delivered to Schools Division of Davao Oriental, Government Center, Dahican, City of Mati, Davao Oriental. Risk and title will pass from the Supplier to the Procuring Entity upon receipt and final acceptance of the Goods at their final destination."
	Delivery of the Goods shall be made by the Supplier in accordance with the terms specified in Section VI (Schedule of Requirements).
	For purposes of this Clause the Procuring Entity's Representative at the Project Site is Ms. Elizabeth D. Lorin, Supply Officer, Schools Division of Davao Oriental, Government Center, Dahican, City of Mati, Davao Oriental.
	In case the Supplier encounters conditions impeding the timely delivery of the goods, it must promptly notify the Division in writing within five (5) calendar days from notice of such conditions, and any request for work suspension and/or contract period extension shall be promptly done in writing as soon as circumstances for such requests have become apparent. The Supplier must provide sufficient proof to support any request for work suspension and/or contract period extension.
	Daghaging
	The Supplier shall provide such packaging of the Goods as is required to prevent their damage or deterioration during transit to their final destination, as indicated in this Contract. The packaging shall be sufficient to withstand, without limitation, rough handling during transit and exposure to extreme temperatures, salt and precipitation during transit, and open storage. Packaging case size and weights shall take into consideration, where appropriate, the remoteness of the Goods' final destination and the absence of heavy handling facilities at all points in transit. The packaging, marking, and documentation within and outside the packages shall comply strictly with such special requirements as shall be expressly provided for in the Contract, including additional requirements, if any, specified below, and in any subsequent instructions ordered by the Procuring Entity.

The outer packaging must be clearly marked on at least four (4) sides as follows: Name of the Procuring Entity

- Name of the Supplier
- Contract Description
- Final Destination
- Gross weight
- Any special lifting instructions
- Any special handling instructions

Any relevant HAZCHEM classifications

A packaging list identifying the contents and quantities of the package is to be placed on an accessible point of the outer packaging if practical. If not practical the packaging list is to be placed inside the outer packaging but outside the secondary packaging.

Transportation -

Where the Supplier is required under Contract to deliver the Goods CIF, CIP, or DDP, transport of the Goods to the port of destination or such other named place of destination in the Philippines, as shall be specified in this Contract, shall be arranged and paid for by the Supplier, and the cost thereof shall be included in the Contract Price.

Where the Supplier is required under this Contract to transport the Goods to a specified place of destination within the Philippines, defined as the Project Site, transport to such place of destination in the Philippines, including insurance and storage, as shall be specified in this Contract, shall be arranged by the Supplier, and related costs shall be included in the contract price.

Where the Supplier is required under Contract to deliver the Goods CIF, CIP or DDP, Goods are to be transported on carriers of Philippine registry. In the event that no carrier of Philippine registry is available, Goods may be shipped by a carrier which is not of Philippine registry provided that the Supplier obtains and presents to the Procuring Entity certification to this effect from the nearest Philippine consulate to the port of dispatch. In the event that carriers of Philippine registry are available but their schedule delays the Supplier in its performance of this Contract the period from when the Goods were first ready for shipment and the actual date of shipment the period of delay will be considered force majeure.

The Procuring Entity accepts no liability for the damage of Goods during transit other than those prescribed by INCOTERMS for DDP deliveries. In the case of Goods supplied from within the Philippines or supplied by domestic Suppliers risk and title will not be deemed to have passed to the Procuring Entity until their receipt and final acceptance at the final destination.

2.2 Schedule of Payment

4

One hundred percent (100%) shall be made within thirty calendar (30) days after the delivery and acceptance of the of all the goods at the venue of the activity.

The inspections and tests that will be conducted in the venue in the presence of the observers.

Section VI. Schedule of Requirements

The delivery schedule expressed as weeks/months stipulates hereafter a delivery date which is the date of delivery to the project site.

Lot Number	Description	Quantity	Delivered, Weeks/Months
1	General Reference and Learning Area References	1 lot	Within twenty (30) calendar days from
2	Globes, Maps, & Charts	1 lot	the date of receipt of the Notice to Proceed

Section VII. Technical Specifications

Technical Specifications

Item	Specification	Statement of Compliance
	The following terms shall apply to all three (3) lots of the project:	
Item	-	[Bidders must state here either "Comply" or "Not Comply" against each of the individual parameters of each Specification stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in a Bidders Bid and crossreferenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature, unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data etc., as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in
	shall be made for any deficient, defective, or incomplete deliveries, regardless of any signed Inspection and Acceptance Reports (IARs).	the Bidder's statement of compliance or the supporting
	4. Liability and Risk During Transit:	evidence that is found to be false either during Bid evaluation, post-qualification
	The Procuring Entity shall not be liable for any damage to the goods during transit, except as may be provided under INCOTERMS applicable to Delivered Duty Paid (DDP) arrangements. For goods supplied within the Philippines or by domestic suppliers, risk and title shall pass to the Procuring Entity only upon receipt and final acceptance at the final destination.	or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the applicable laws and issuances.]

Technical Specifications

		TECHNICAL SPECIFICA	TIONS										
Procuremo	Procurement and Delivery of Supplementary Learning Resources to Functional Elementary and Secondary School Libraries in DepED Schools Division of Davao Oriental												
Item / Service	Quantity	Detailed Technical Specifications	Statement of Compliance (State Comply or Not Comply)	Bidder's Actual Offer									
		(See attached list of SLM per lot)											

STATEMENT OF COMPLIANCE

I hereby commit to provide the above specified requirements in compliance with the Technical Specifications for the Project: **Procurement and Delivery of Supplementary Learning Resources to Functional Elementary and Secondary School Libraries in DepED Schools Division of Davao Oriental (Lot 1).**

Name and Signature of Authorized Representative

Lot 1 General References

Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Copyright Year/ Date of	Size (L x W)	No. of Pages	Inside	Pages	Cove	r	Binding	Unit	Unit Price	Quantity	Total Cost
			Distributor			Publication	(L X VV)	rayes	Paper Used	Colors	Type of Paper Used	Colors					
General Reference	The New General Education Advancement Program (GEAP): Mathematics	Grade 3-12	Brainworld	Sally Bondoc/ Arlan Payad	978-971-0328-29- 1	2023	11x8.5	314	GSM 100	4	FC12	4	Hardbound				
General Reference	The New General Education Advancement Program (GEAP): English	Grade 3 -12	Brainworld		978-971-0328-32- 1	2024	11x8.5	312	GSM 100	4	FC12	4	Hardbound				
General Reference	The New General Education Advancement Program (GEAP): Social Studies	Grade 3 -12	Brainworld		978-971-0328-31- 4	2024	11x8.5	310	GSM 100	4	FC12	4	Hardbound	set	16,990.00	90	1,529,100.00
General Reference	The New General Education Advancement Program (GEAP): Science	Grade 3 -12	Brainworld		978-971-0328-30- 7	2024	11x8.5	308	GSM 100	4	FC12	4	Hardbound				
General Reference	The New Comprehensive English-Filipino Dictionary	JHS/SHS	Brainworld	Nathaniel Canlas/ Francisca Nalus	978-971-0328-27- 7	2015	11x8.25 Inches	1,094	100 GSM Book Paper	Full Color	High Quality Paper Glossy w/ Plastic	Full color	Hardbound	piece	9,889.00	26	257,114.00
																	1,786,214.00
General Reference	Amazing Body Parts	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-023- 8	2025	8.8x11	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	384.73	80	30,778.40
General Reference	Amazing World Encyclopedia: Flowers	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-019- 1	2024	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	81	26,708.13
General Reference	Amazing World Encyclopedia Set	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-042- 9	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	8,243.13	64	527,560.32
General Reference	Amazing World Encyclopedia: Birds	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-020- 7	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	82	27,037.86
General Reference	Ang Dagat na Kumukuha ng mga Tatay	JHS/SHS	Bookware Publishing Corporation	Genaro Gojo Cruz	978-971-432-888- 1	2024	7x9	20	C2S70	4	Foldcote 12	4	Saddle Stitch	piece	163.90	99	16,226.10

Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Copyright Year/ Date of	Size (L x W)	No. of Pages	Inside P	ages	Cove	r	Binding	Unit	Unit Price	Quantity	Total Cost
			2.0			Publication	(L X VV) Pages	Paper Used	Colors	Type of Paper Used	Colors						
General Reference	Ang Dating Magkakaibigan sa baryo Bantas	JHS/SHS	Bookware Publishing Corporation	Jake Fraga	978-971-433-007- 8	2025	7x9	32	Bookpape r 60	4	Foldcote 12	4	Perfect Binding	piece	218.90	101	22,108.90
General Reference	Animals	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-009- 2	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	99	32,643.27
General Reference	Atlas of the World	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-034- 4	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	101	33,302.73
General Reference	Bible for Children	JHS/SHS	Bookware Publishing Corporation	Apple Masallo	978-971-432-993- 5	2021	8x10.5	82	C2S70	4	Foldcote 12	4	Perfect Binding	piece	328.90	98	32,232.20
General Reference	Communication	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	9.78971E+13	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	102	33,632.46
General Reference	Earth	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	9.78971E+13	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	102	33,632.46
General Reference	Easy to Read BibleStories (Filipino Edition)	JHS/SHS	Bookware Publishing Corporation	Apple Masallo	978-971-432-990- 4	2024	7x9	64	Bookpaper	4	Foldcote 12	4	Perfect Binding	piece	273.90	105	28,759.50
General Reference	Famous Places	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-033- 7	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	72	23,740.56
General Reference	Great Inventions	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-029- 0	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	99	32,643.27
General Reference	Human Anatomy	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-018- 4	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	104	34,291.92
General Reference	Insects and Spiders	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-017- 7	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	95	31,324.35
General Reference	Mammals	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-036- 8	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	96	31,654.08

Type of SLR	Title	Category	Publisher/	Author/s	ISBN	Copyright Year/	Size	No. of	Inside	Pages	Cove	r	Binding	Unit	Unit Price	Quantity	Total Cost
			Distributor			Date of Publication		Pages	Paper Used	Colors	Type of Paper Used	Colors					
General Reference	Mega Sudoku	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	480-653-188-571- 2	2024	5x7		Book50		Foldcote 12	4	Perfect Binding	piece	218.90	107	23,422.30
General Reference	Mummies and Pyramids	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	9.78971E+13	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	105	34,621.65
General Reference	Music, dance and Drama	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	9.78971E+13	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	72	23,740.56
General Reference	Oceans and Rivers	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-015- 3	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	102	33,632.46
General Reference	People of the World	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-028- 3	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	3	989.19
General Reference	Pictorial World Atlas	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	9.78971E+13	2025	9.9x13.75	71	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	824.73	3	2,474.19
General Reference	Plants	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-014- 6	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	102	33,632.46
General Reference	Reptiles and Amphibians	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-013- 9	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	69	22,751.37
General Reference	Sensible Senses	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-022- 1	2025	8.8x11	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	384.73	103	39,627.19
General Reference	Solar System	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	9.78971E+13	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	103	33,962.19
General Reference	Sports	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-011- 5	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	109	35,940.57
General Reference	Story of the Past	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-036- 8	2025	6.8x9.8	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	329.84	70	23,088.80

Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Copyright Year/ Date of	Size (L x W)	No. of	Inside P	ages	Cove	r	Binding	Unit	Unit Price	Quantity	Total Cost
			Distributor			Publication	(L X VV)	Pages	Paper Used	Colors	Type of Paper Used	Colors					
General Reference	Sudoku	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	480-653-188-551- 4	2024	5x7	128	book50	1	Foldcote 12	4	Perfect Binding	piece	132.00	98	12,936.00
General Reference	The Circulatory and Respiratory Systems	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-027- 6	2025	8.8x11	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	384.73	104	40,011.92
General Reference	The Digestive, Urinary, and Excretory Systems	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-021- 4	2025	8.8x11	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	384.73	102	39,242.46
General Reference	The Easy to read Bible Stories(English Edition)	JHS/SHS	Bookware Publishing Corporation	Apple Masallo	978-971-432-888- 98	2024	7x9	64	bookpaper 60	4	Foldcote 12	4	Perfect Binding	piece	273.90	102	27,937.80
General Reference	The Encyclopedia	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-043- 6	2025	8.8x11	32	c2s100	4	Foldcote 12	4	Saddle Stitch	piece	2,693.08	73	196,594.84
General Reference	The Nervous Indocrine and Immune Systems	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-025- 2	2025	8.8x11	32	c2s100	4	Foldcote 12	4	Saddle Stitch	piece	384.73	105	40,396.65
General Reference	The Reproductive System	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-024- 5	2025	8.8x11	32	C2S100	4	Foldcote 12	4	Saddle Stitch	piece	384.73	104	40,011.92
General Reference	The Skeletal and Muscular System	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-021- 4	2025	8.8x11	32	c2s100	4	Foldcote 12	4	Saddle Stitch	piece	384.73	105	40,396.65
General Reference	Transport	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-432-303- 51	2025	6.8x9.8	32	c2s100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	70	23,081.10
General Reference	Volcanoes and Earthquakes	JHS/SHS	Bookware Publishing Corporation	Rohit Rohilla	978-971-433-010- 8	2025	6.8x9.8	32	c2s100	4	Foldcote 12	4	Saddle Stitch	piece	329.73	105	34,621.65
																	1,762,066.24
General Reference	500 Questions And Answers-Dinosaurs	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-183-9233-68- 5	2022	29.10 x 22 cm	128 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	599.00	70	41,930.00

Type of SLR	Title	Category	Publisher/	Author/s	ISBN	Copyright Year/	Size	No. of	Inside	Pages	Cove	r	Bindina	Unit	Unit Price	Quantity	Total Cost
			Distributor			Date of Publication	(L x W)	Pages	Paper Used	Colors	Type of Paper Used	Colors					
General Reference	7 Best Things About Bedtime	Kinder 1-6	WS Pacific Publications, Inc	Patrick Yee	978-148-6729-22- 7	2023	19.70 x 16.50 cm	16 pp	Grey Board	4 Colors	Glossy Artpaper Over Chipboard	4 Colors	Casebound	piece	249.00	70	17,430.00
General Reference	A Celebration Of Mindfulness-Believe	Kinder 1-6	WS Pacific Publications, Inc	Katie Wilson	978-148-6729-28- 9	2023	17.70 x 17.60 cm	20 pp	Grey Board	4 Colors	Grey Board	4 Colors	Perfect	piece	299.00	70	20,930.00
General Reference	A Celebration Of Mindfulness-Joy	Kinder 1-6	WS Pacific Publications, Inc	Katie Wilson	978-148-6729-27- 2	2023	17.70 x 17.60 cm	20 pp	Grey Board	4 Colors	Grey Board	4 Colors	Perfect	piece	299.00	70	20,930.00
General Reference	A Celebration Of Mindfulness-Love	Kinder 1-6	WS Pacific Publications, Inc	Katie Wilson	978-148-6729-26- 5	2023	17.70 x 17.60 cm	20 pp	Grey Board	4 Colors	Grey Board	4 Colors	Perfect	piece	299.00	70	20,930.00
General Reference	A Celebration Of Mindfulness-Peace	Kinder 1-6	WS Pacific Publications, Inc	Katie Wilson	978-148-6729-25- 8	2023	17.70 x 17.60 cm	20 pp	Grey Board	4 Colors	Grey Board	4 Colors	Perfect	piece	299.00	70	20,930.00
General Reference	Amazing Facts-Dinosaurs	Kinder 1-6	WS Pacific Publications, Inc	WS Pacific Publications, Inc	978-621-4332-06- 9	2023	29.20 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	70	20,930.00
General Reference	Amazing Facts-Human Body	Kinder 1-6	WS Pacific Publications, Inc	WS Pacific Publications, Inc	978-621-4332-05- 2	2023	29.20 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	70	20,930.00
General Reference	Amazing Facts-Science	Kinder 1-6	WS Pacific Publications, Inc	WS Pacific Publications, Inc	978-621-4332-04- 5	2023	29.20 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	70	20,930.00
General Reference	Amazing Facts-Space	Kinder 1-6	WS Pacific Publications, Inc	WS Pacific Publications, Inc	978-621-4332-03- 8	2023	29.20 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	70	20,930.00
General Reference	Smart Babies Book Of Manners-Sharing	Kinder 1-6	WS Pacific Publications, Inc	Ma Carmela de Luna Agustin/ Mela Agustin	978-621-4332-10- 6	2022	17.70 x 17.60 cm	10 pp	Grey Board	4 Colors	Grey Board	4 Colors	Perfect	piece	129.00	70	9,030.00

Type of SLR	Title	Category	Publisher/	Author/s	ISBN Year	Copyright Year/	Size	No. of	Inside	Pages	Cove	r	Bindina	Unit	Unit Price	Quantity	Total Cost
		,	Distributor			Publication	(L x W)	Pages	Paper Used	Colors	Type of Paper Used	Colors	,				
General Reference	Smart Babies Book Of Manners-Taking Turns	Kinder 1-6	WS Pacific Publications, Inc	Ma Carmela de Luna Agustin/ Mela Agustin	978-621-4332-09- 0	2022	17.70 x 17.60 cm	10 pp	Grey Board	4 Colors	Grey Board	4 Colors	Perfect	piece	129.00	70	9,030.00
General Reference	Smart Babies Discover The World-My Body	Kinder 1-6	WS Pacific Publications, Inc	Ma Carmela de Luna Agustin/ Mela Agustin	978-621-4331-75- 8	2022	17.80 x 17.70 cm	10 pp	Grey Board	4 Colors	Grey Board	4 Colors	Perfect	piece	129.00	70	9,030.00
General Reference	Smart Kids My First Steam Words-Engineering	Kinder 1-6	WS Pacific Publications, Inc	WS Pacific Publications, Inc	978-621-4332-00- 7	2022	23 x 17.50 cm	24 pp + 8 end pp	Art Paper	4 Colors	Glossy Artpaper Over Chipboard	4 Colors	Casebound	piece	159.00	70	11,130.00
General Reference	Smart Kids My First Steam Words-Mathematics	Kinder 1-6	WS Pacific Publications, Inc	WS Pacific Publications, Inc	978-621-4332-02- 1	2022	23 x 17.50 cm	24 pp + 8 end pp	Art Paper	4 Colors	Glossy Artpaper Over Chipboard	4 Colors	Casebound	piece	159.00	70	11,130.00
General Reference	Smart Kids My First Steam Words-Science	Kinder 1-6	WS Pacific Publications, Inc	WS Pacific Publications, Inc	978-621-4331-98- 7	2022	23 x 17.50 cm	24 pp + 8 end pp	Art Paper	4 Colors	Glossy Artpaper Over Chipboard	4 Colors	Casebound	piece	159.00	75	11,925.00
General Reference	Smart Kids My First Steam Words-Technology	Kinder 1-6	WS Pacific Publications, Inc	WS Pacific Publications, Inc	978-621-4331-99- 4	2022	23 x 17.50 cm	24 pp + 8 end pp	Art Paper	4 Colors	Glossy Artpaper Over Chipboard	4 Colors	Casebound	piece	159.00	75	11,925.00
General Reference	Ultimate Questions & Answers-Animals And Nature	Kinder 1-6	WS Pacific Publications, Inc	Nicola Deschamps and Rebecca Kealy	978-183-7714-46- 9	2022	27.60 x 22.20 cm	64 pp + 8 end pp	Woodfree	4 Colors	Glossy Artpaper Over Chipboard	4 Colors	Casebound	piece	329.00	75	24,675.00
General Reference	Ultimate Questions & Answers-History And Culture	Kinder 1-6	WS Pacific Publications, Inc	Nicola Deschamps and Rebecca Kealy	978-183-7714-44- 5	2022	27.60 x 22.20 cm	64 pp + 8 end pp	Woodfree	4 Colors	Glossy Artpaper Over Chipboard	4 Colors	Casebound	piece	329.00	75	24,675.00
General Reference	Ultimate Questions & Answers-Human Body	Kinder 1-6	WS Pacific Publications, Inc	Nicola Deschamps and Rebecca Kealy	978-183-7714-47- 6	2022	27.60 x 22.20 cm	64 pp + 8 end pp	Woodfree	4 Colors	Glossy Artpaper Over Chipboard	4 Colors	Casebound	piece	329.00	75	24,675.00

Type of SLR	Title	Category	Publisher/				Author/s	ISBN	Copyright Year/	Size	No. of	Inside	Pages	Cover		Binding	Unit	Unit Price	Quantity	Total Cost
	11.0		Distributor			Date of Publication	(L x W)	Pages	Paper Used	Colors	Type of Paper Used	Colors								
General Reference	Ultimate Questions & Answers-Planet Earth	Kinder 1-6	WS Pacific Publications, Inc	Nicola Deschamps and Rebecca Kealy	978-183-7714-43- 8	2022	27.60 x 22.20 cm	64 pp + 8 end pp	Woodfree	4 Colors	Glossy Artpaper Over Chipboard	4 Colors	Casebound	piece	329.00	75	24,675.00			
General Reference	Ultimate Questions & Answers-Science	Kinder 1-6	WS Pacific Publications, Inc	Nicola Deschamps and Rebecca Kealy	978-183-7714-42- 1	2022	27.60 x 22.20 cm	64 pp + 8 end pp	Woodfree	4 Colors	Glossy Artpaper Over Chipboard	4 Colors	Casebound	piece	329.00	75	24,675.00			
General Reference	Ultimate Questions & Answers-Space	Kinder 1-6	WS Pacific Publications, Inc	Nicola Deschamps and Rebecca Kealy	978-183-7714-41- 4	2022	27.60 x 22.20 cm	64 pp + 8 end pp	Woodfree	4 Colors	Glossy Artpaper Over Chipboard	4 Colors	Casebound	piece	329.00	75	24,675.00			
General Reference	Wonders Of Learning- Discover Animal Encyclopedia	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-3730-91- 9	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00			
General Reference	Wonders Of Learning- Discover Biology	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6905-16- 1	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00			
General Reference	Wonders Of Learning- Discover Botany	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6906-93- 9	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00			
General Reference	Wonders Of Learning- Discover Chemistry	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6905-17- 8	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00			
General Reference	Wonders Of Learning- Discover Computers & Coding	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-183-9235-59- 7	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00			
General Reference	Wonders Of Learning- Discover Dinosaurs	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-3730-03- 2	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00			

Type of SLR	Title	Category	Publisher/	Author/s	ISBN	Copyright Year/	Size	No. of	Inside	Pages	Cove	r	Binding	Unit	Unit Price	Quantity	Total Cost
			Distributor			Date of Publication	(L x W)	Pages	Paper Used	Colors	Type of Paper Used	Colors	Ū				
General Reference	Wonders Of Learning- Discover Electricity & Magnetism	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6905-25- 3	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
General Reference	Wonders Of Learning- Discover Endangered Animals	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-3730-05- 6	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
General Reference	Wonders Of Learning- Discover First Aid	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6905-26- 0	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
General Reference	Wonders Of Learning- Discover Geography	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6906-91- 5	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
General Reference	Wonders Of Learning- Discover Geology	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6906-92- 2	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
General Reference	Wonders Of Learning- Discover Global Warming & Climate Change	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6905-80- 2	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
General Reference	Wonders Of Learning- Discover Light, Sound & Motion	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6906-94- 6	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
General Reference	Wonders Of Learning- Discover Oceans	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6908-12- 4	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
General Reference	Wonders Of Learning- Discover Physics	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6905-18- 5	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00

Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Copyright Year/	Size	No. of	Inside	Pages	Cove	r	Binding	Unit	Unit Price	Quantity	Total Cost
			Distributor			Date of Publication	(L x W)	Pages	Paper Used	Colors	Type of Paper Used	Colors	_				
General Reference	Wonders Of Learning- Discover Reptiles	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6908-13- 1	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
General Reference	Wonders Of Learning- Discover Robotics	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-183-9230-92- 9	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
General Reference	Wonders Of Learning- Discover Science	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6903-12- 9	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
General Reference	Wonders Of Learning- Discover Space	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-3730-92- 6	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
General Reference	Wonders Of Learning- Saving Planet Earth	Kinder 1-6	WS Pacific Publications, Inc	North Parade	978-178-6905-81- 9	2022	29.30 x 22 cm	48 pp	Art Paper	4 Colors	Padded Case Cover Over Board and Foam	4 Colors	Casebound	piece	299.00	75	22,425.00
	1	ı	I		1		1		l	ı	1				ı		896,550.00
General Reference	New Encyclopedia of Knowledge - Ocean and Seas	K-12	Books on Wheels Enterprises Inc.	Golden Books	978-81-7614-662- 3	2020	8.5" x 11"	32	art paper 150 gsm	4 colors	hardback 130 gsm	4 colors	perfect binding				
General Reference	New Encyclopedia of Knowledge - Continents and Countries	K-12	Books on Wheels Enterprises Inc.	Golden Books	978-81-7614-666- 1	2020	8.5" x 11"	48	art paper 150 gsm	4 colors	hardback 130 gsm	4 colors	perfect binding				
General Reference	New Encyclopedia of Knowledge - Mysteries of the Sea	K-12	Books on Wheels Enterprises Inc.	Golden Books	978-81-7614-663- 0	2020	8.5" x 11"	32	art paper 150 gsm	4 colors	hardback 130 gsm	4 colors	perfect binding	set	10,098.00	90	908,820.00
General Reference	New Encyclopedia of Knowledge - Human Body	K-12	Books on Wheels Enterprises Inc.	Golden Books	978-81-7614-669- 2	2020	8.5" x 11"	48	art paper 150 gsm	4 colors	hardback 130 gsm	4 colors	perfect binding				

Type of SLR	Title	Category	Publisher/	Author/s	ISBN	Copyright Year/	Size	No. of	Inside	Pages	Cove	r	Binding	Unit	Unit Price	Quantity	Total Cost
			Distributor			Date of Publication	(L x W)	Pages	Paper Used	Colors	Type of Paper Used	Colors					
General Reference	New Encyclopedia of Knowledge - Inventions and Discoveries	K-12	Books on Wheels Enterprises Inc.	Golden Books	978-81-7614-670- 8	2020	8.5" x 11"	48	art paper 150 gsm	4 colors	hardback 130 gsm	4 colors	perfect binding				
		ı		I				I		1	ı	I	I		I	ı	908,820.00
General Reference	Pambatang Diksiyonaryo	4-6	Adarna House	Alai Agadulin, Audrey Alegre, Anna Esguerra, Jeriel Faune, Kata Garcia, Emylou Infante, Jonnel Inojosa, Jonelle Marcos	978-971-508-966- 1	2023	8.5 X 11	576	Matte 60	4/4	C2S 220	4 + UV/1	smyhe perfect	piece	1,499.00	90	134,910.00
	•	•	•	•				•	•	•	•	•	•	•	•	•	134,910.00

TOTAL 5,488,560.24

Lot 1 Learning Area References

T of CLD			Dublisher!			Copyright	C:		Insid	e Pages	Co	ver					
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
LAR - Social Sciences	Disaster Preparedness for Young Minds (Grade 1-6)	1-6	Brainworld	Payad & Layug	978-9710-328-76-5	2017	11x8.25	80	100 GSM Book Paper	Full Colors Illustrations	High Quality Paper Glossy w/ Plastic	Full Color Illustrations	Hardbound	piece	8,990.00	90	809,100.00
Learning Area References	The New General Education Advancement Program (GEAP): Mathematics	JHS/SHS	Brainworld Publishing/ New Century Books	Sally Bondoc/ Arlan Payad	978-971-0328-29-1	2023	11x8.5	314	GSM 100	4	FC12	4	Hardbound				
Learning Area References	The New General Education Advancement Program (GEAP): English	JHS/SHS	Brainworld Publishing/ New Century Books		978-971-0328-32-1	2024	11x8.5	312	GSM 100	4	FC12	4	Hardbound	set	16,990.00	27	459 720 00
Learning Area References	The New General Education Advancement Program (GEAP): Social Studies	JHS/SHS	Brainworld Publishing/ New Century Books		978-971-0328-31-4	2024	11x8.5	310	GSM 100	4	FC12	4	Hardbound	Set	10,990.00	21	458,730.00
Learning Area References	The New General Education Advancement Program (GEAP): Science	JHS/SHS	Brainworld Publishing/ New Century Books		978-971-0328-30-7	2024	11x8.5	308	GSM 100	4	FC12	4	Hardbound				
			1	1				1	ı		1		1				1,267,830.00
Learning Area References	TLE-Technical Vocational Livelihood Series Travel Srvices	JHS/SHS	Phoenix Publishing House	Raquel F. Verzosa M.A. Lang. Editor	978-971-06-3948-9	2016	10 x 6.5	322	white paper- 70 gsm	1	Foldcote	4 Colors-full	Perfect Binding	piece	822.80	82	67,469.60
Learning Area References	TLE-Technical Vocational Livelihood Series Caregiving	JHS/SHS	Phoenix Publishing House	Carlo B. Bejarasco	978-971-06-4950-2	2016	10 x 6.5	414	white paper- 70 gsm	1	Foldcote	4 Colors-full	Perfect Binding	piece	883.30	77	68,014.10
Learning Area References	TLE-Technical Vocational Livelihood Series Bread and Pastry Production	JHS/SHS	Phoenix Publishing House	Grace R. Nieves	978-971-06-3978-6	2016	10 x 6.5	404	white paper- 70 gsm	1	Foldcote	4 Colors-full	Perfect Binding	piece	695.75	82	57,051.50
Learning Area References	TLE-Technical Vocational Livelihood Series Housekeeping	JHS/SHS	Phoenix Publishing House	Jennifer F. Vivas	978-971-06-3951-9	2016	10 x 6.5	288	white paper- 70 gsm	1	Foldcote	4 Colors-full	Perfect Binding	piece	586.85	82	48,121.70

						Copyright	-		Insid	e Pages	Co	ver]				
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area References	TLE-Technical Vocational Livelihood series Food Processing	JHS/SHS	Phoenix Publishing House	Rosalinda S. Pascua	978-971-06-3936-6	2016	10 x 6.5	302	white paper- 70 gsm	1	Foldcote	4 Colors-full	Perfect Binding	piece	695.75	82	57,051.50
Learning Area References	TLE-Technical Vocational Series Animation	JHS/SHS	Phoenix Publishing House	Alma Cafe Ando	978-971-06-3937-3	2018	10 x 6.5	268	white paper- 70 gsm	1	Foldcote	4 Colors-full	Perfect Binding	piece	586.85	64	37,558.40
Learning Area References	TLE-Technical Vocational Livelihood Series Programming Oracle Database	JHS/SHS	Phoenix Publishing House	John Christian B. Valdivia	978-971-06-3935-9	2016	10 x 6.5	582	white paper- 70 gsm	1	Foldcote	4 Colors-full	Perfect Binding	piece	1,173.70	64	75,116.80
Learning Area References	TLE-Technical Vocational Livelihood Series Programming Java	JHS/SHS	Phoenix Publishing House	Deover M. Pasco	978-971-06-3934-2	2016	10 x 6.5	318	white paper- 70 gsm	1	Foldcote	4 Colors-full	Perfect Binding	piece	883.30	66	58,297.80
Learning Area References	TLE-Technical Vocational Series Local Guiding	JHS/SHS	Phoenix Publishing House	Raquel F. Verzosa M.A. Lang. Editor jeneffer p. baltazar	978-971-06-3932-8	2016	10 x 6.5	236	white paper- 70 gsm	1	Foldcote	4 Colors-full	Perfect Binding	piece	623.15	79	49,228.85
Learning Area References	TLE-Technical Vocational Livelihood Series Medical Transcription	JHS/SHS	Phoenix Publishing House	Joanette G. Rodrigo	978-971-06-3938-0	2016	10 x 6.5	300	white paper- 70 gsm	1	Foldcote	4 Colors-full	Perfect Binding	piece	847.00	69	58,443.00
												1	, ,				576,353.25
Learning Area References	CPAR: Creating Pathways for Art Studies and Regional Representation	JHS/SHS	Johnny and Hansel Publications	Romero/De Sosa	978-621-809-816-9	2021	8.25" x 10.75"	126	Bookpaper 40	2 Color	FC Solid White Cal 12	4+1 SIDE UV LAMINATION	PERFECT BINDING WITH SIDE GLUING SCORING	piece	605.00	121	73,205.00
Learning Area References	Designing A Reaseach Plan and Navigating the Reseach Process (Immersion) (SHS)	JHS/SHS	Johnny and Hansel Publications	John N. Ponsaran	8978-621-502-022-4	2025	8.25" x 10.75"	144	Bookpaper 40	2 Color	FC Solid White Cal 12	4+1 SIDE UV LAMINATION	PERFECT BINDING WITH SIDE GLUING SCORING	piece	770.00	120	92,400.00

						Copyright			Insid	e Pages	Co	ver					ı
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area References	General Mathematics: Math Unlocked (SHS)	JHS/SHS	Johnny and Hansel Publications	Pasion/Francisc o/Laviña	978-621-809-819-0	2022	8.25" x 10.75"	164	Bookpaper 40	2 Color	FC Solid White Cal 12	4+1 SIDE UV LAMINATION	PERFECT BINDING WITH SIDE GLUING SCORING	piece	715.00	120	85,800.00
Learning Area References	Physical Science: The Wonders of Physical World (SHS)	JHS/SHS	Johnny and Hansel Publications	Bruan/De Guzman/Tagle/ Aguinaldo/Villac rusis	978-621-809-896-1	2025	8.25" x 10.75"	378	Bookpaper 40	2 Color	FC Solid White Cal 12	4+1 SIDE UV LAMINATION	PERFECT BINDING WITH SIDE GLUING SCORING	piece	792.00	122	96,624.00
Learning Area References	Physical Science: Understanding the Physical World (SHS)	JHS/SHS	Johnny and Hansel Publications	Santiago/Aguin aldo	978-621-809-853-4	2022	8.25" x 10.75"	244	Bookpaper 40	2 Color	FC Solid White Cal 12	4+1 SIDE UV LAMINATION	PERFECT BINDING WITH SIDE GLUING SCORING	piece	792.00	122	96,624.00
Learning Area References	Speak Confidently: A Guide to Effective Oral Communication (SHS)	JHS/SHS	Johnny and Hansel Publications	Maria Cecillia P. Faigal- Mariano	8978-621-502-024-8	2025	8.25" x 10.75"	80	Bookpaper 40	2 Color	FC Solid White Cal 12	4+1 SIDE UV LAMINATION	PERFECT BINDING WITH SIDE GLUING SCORING	piece	748.00	122	91,256.00
Learning Area References	Statistics and Probability: A Modern Approach for the New Generation (SHS)	JHS/SHS	Johnny and Hansel Publications	Pasion/Francisc o/Laviña	978-621-809-818-3	2023	8.25" x 10.75"	240	Bookpaper 40	2 Color	FC Solid White Cal 12	4+1 SIDE UV LAMINATION	PERFECT BINDING WITH SIDE GLUING SCORING	piece	803.00	125	100,375.00
	'		1	. '								· I					636,284.00
Learning Area References	Ang Bagong PANITIK: Filipino sa Panahon ng Pagbabago Grade 7 K to 12	JHS/SHS	Adriana Printing Co. Inc.	Erico M. Habijan et. al	978-971-9656-55-5	2020	7 x 10	416	Bookpaper 40	2	FC 12	4	Perfect Binding	piece	786.50	120	94,380.00
Learning Area References	Ang Bagong PANITIK: Filipino sa Panahon ng Pagbabago Grade 8 K to 12	JHS/SHS	Adriana Printing Co. Inc.	Erico M. Habijan et. al	978-971-9656-54-8	2020	7 x 10	376	Bookpaper 40	2	FC 12	4	Perfect Binding	piece	731.50	118	86,317.00
Learning Area References	Ang Bagong PANITIK: Filipino sa Panahon ng Pagbabago Grade 9 K to 12	JHS/SHS	Adriana Printing Co. Inc.	Encarnacion M. Jimenez et. al	978-971-9656-46-3	2020	7 x 10	408	Bookpaper 40	2	FC 12	4	Perfect Binding	piece	775.50	118	91,509.00

						Copyright			Insid	e Pages	Co	ver					
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area References	Ang Bagong PANITIK: Filipino sa Panahon ng Pagbabago Grade 10 K to 12	JHS/SHS	Adriana Printing Co. Inc.	Encarnacion M. Jimenez et. al	978-971-9656-47-0	2020	7 x 10	448	Bookpaper 40	2	FC 12	4	Perfect Binding	piece	836.00	116	96,976.00
Learning Area References	Bread and Pastry Production	JHS/SHS	Adriana Printing Co. Inc.	Aida H. Rondilla et. al	978-971-9656-80-7	2021	7 x 10	184	Bookpaper 40	1	FC 12	4	Perfect Binding	piece	426.80	119	50,789.20
Learning Area References	Food and Beverage Processing, A Beginner's Guide to Basic Food Processing K to 12	JHS/SHS	Adriana Printing Co. Inc.	Aida H. Rondilla et. al	978-971-9656-85-2	2023	7 x 10	176	Bookpaper 40	1	FC 12	4	Perfect Binding	piece	415.80	119	49,480.20
Learning Area References	Technology and Livelihood Education for the New Century Grade 7 K to 12 (Exploratory Courses)	JHS/SHS	Adriana Printing Co. Inc.	Aida H. Rondilla et. al	978-971-9656-81-4	2022	7 x 10	240	Bookpaper 40	1	FC 12	4	Perfect Binding	piece	506.00	119	60,214.00
Learning Area References	Technology and Livelihood Education for the New Century Grade 8 K to 12 (Exploratory Courses)	JHS/SHS	Adriana Printing Co. Inc.	Aida H. Rondilla et. al	978-971-9656-82-1	2022	7 x 10	184	Bookpaper 40	1	FC 12	4	Perfect Binding	piece	426.80	120	51,216.00
				•					•				•	•	•	•	580,881.40
Learning Area References	Automotive Engines: Diagnosis, Repair, and Rebuilding	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Gilles	978-981-4878-47-0	8ed. c2020	8 x 10 in	748	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	4,477.00	41	183,557.00
Learning Area References	Automotive Service: Inspection, Maintenance, Repair	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Gilles	978-981-4888-16-5	6ed. c2020	8 x 10 in	1808	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	10,631.50	28	297,682.00
Learning Area References	Electrical Wiring Residential	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Mullin/Simmons	978-981-4878-49-4	19th ed. c2020	8 x 10 in	840	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	4,977.50	12	59,730.00

				 		Copyright			Insid	e Pages	Co	ver					
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area References	Milady Standard Barbering	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Milady	978-981-4878-50-0	6/e, c2020	8 x 10 in	555	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	6,600.00	1	6,600.00
Learning Area References	Milady Standard Cosmetology	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Milady	978-981-4896-23-8	13/e, c2020	8 x 10 in	848	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	8,690.00	1	8,690.00
Learning Area References	Electrical Wiring Commercial	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Simmons	978-981-4853-27-9	16ed. c2020	8 x 10 in	636	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	3,888.50	1	3,888.50
Learning Area References	Milady Standard Nail Technology	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Milady	978-981-4853-09-5	7/e, c2020	8 x 10 in	1152	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	4,567.20	11	50,239.20
Learning Area References	Today's Technician: Automotive Engine Performance, Classroom Manual and Shop Manual	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Pickerill	978-981-4888-20-2	7ed c2020	8 x 10 in	1216	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	7,441.50	25	186,037.50
Learning Area References	Today's Technician: Automotive Engine Repair and Rebuilding, Classroom Manual and Shop Manual	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Hadfield/Nussie r	978-981-4878-51-7	6ed. c2020	8 x 10 in	1070	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	6,671.50	26	173,459.00
Learning Area References	Today's Technician: Automotive Heating and Air Conditioning Classroom Manual and Shop Manual	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Schnubel	978-981-4888-22-6	6ed. c2020	8 x 10 in	1066	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	6,682.50	25	167,062.50
Learning Area References	Today's Technician: Automotive Suspension and Steering, Classroom Manual and Shop Manual	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Schnubel	978-981-4888-18-9	7ed. c2020	8 x 10 in	1156	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	7,898.00	25	197,450.00

						Copyright			Insid	e Pages	Co	ver	1				
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area References	Today's Technician: Basic Automotive Services and Systems, Classroom Manual and Shop Manual	JHS/SHS	Cengage Leaming Asia Pte. Ltd.	Hadfield	978-981-4888-23-3	5ed., c2020	8 x 10 in	1008	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	6,336.00	25	158,400.00
Learning Area References	Today's Technician: Brake Systems, Classroom Manual and Shop Manual	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Pickerill	978-981-4888-19-6	7ed. c2020	8 x 10 in	906	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	5,830.00	25	145,750.00
Learning Area References	Welding: Principles and Applications	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Jeffus	978-981-4853-05-7	2020	8 x 10 in	958	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	6,124.80	25	153,120.00
Learning Area References	Automotive Engines: Diagnosis, Repair, and Rebuilding	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Gilles	978-981-4878-47-0	2020	8 x 10 in	748	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	4,477.00	24	107,448.00
Learning Area References	Electrical Wiring Residential	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Mullin/Simmons	978-981-4878-49-4	2020	8 x 10 in	840	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	4,977.50	10	49,775.00
Learning Area References	Today's Technician: Automotive Engine Repair and Rebuilding, Classroom Manual and Shop Manual	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Hadfield/Nussie r	978-981-4878-51-7	2020	8 x 10 in	1070	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	6,671.50	24	160,116.00
Learning Area References	Automotive Service: Inspection, Maintenance, Repair (Volume 1 & 2)	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Gilles	978-981-4888-16-5	2020	8 x 10 in	1808	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	10,631.50	25	265,787.50
Learning Area References	Electrical Wiring Commercial	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Simmons	978-981-4853-27-9	2020	8 x 10 in	636	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	3,888.50	25	97,212.50

						Copyright			Insid	e Pages	Co	ver					
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area References	Electrical Wiring Industry	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Herman	978-981-4853-26-2	2020	8 x 10 in	394	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	2,868.80	26	74,588.80
Learning Area References	Today's Technician: Automotive Engine Performance, Classroom Manual and Shop Manual	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Pickerill	978-981-4888-20-2	2020	8 x 10 in	1216	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	7,441.50	25	186,037.50
Learning Area References	Today's Technician: Automotive Heating and Air Conditioning Classroom Manual and Shop Manual	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Schnubel	978-981-4888-22-6	2020	8 x 10 in	1066	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	6,682.50	25	167,062.50
Learning Area References	Today's Technician: Automotive Suspension and Steering, Classroom Manual and Shop Manual	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Schnubel	978-981-4888-18-9	2020	8 x 10 in	1156	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	7,898.00	11	86,878.00
Learning Area References	Today's Technician: Basic Automotive Services and Systems, Classroom Manual and Shop Manual	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Hadfield	978-981-4888-23-3	2020	8 x 10 in	1008	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	6,336.00	25	158,400.00
Learning Area References	Today's Technician: Brake Systems, Classroom Manual and Shop Manual	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Pickerill	978-981-4888-19-6	2020	8 x 10 in	906	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	5,830.00	26	151,580.00
Learning Area References	Welding: Principles and Applications	JHS/SHS	Cengage Learning Asia Pte. Ltd.	Jeffus	978-981-4853-05-7	2020	8 x 10 in	958	Bookpaper	1	Foldcote 12	4	Perfect Binding	piece	6,124.80	25	153,120.00

Type of SLR			Publisher/			Copyright Year/	Size	1	Insid	e Pages	Co	ver	1				
Type of SLK	Title	Category	Distributor	Author/s	ISBN	Date of Publication	(L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
																	3,449,671.5
Learning Areas References	Disaster Readiness and Risk Reduction	Grade 11-12	Rex Book Store Inc.	Pocholo Mari T. Arabit	978-621-04-4396-7	2023	8.25x10.75	336	Mechanical Bond	1/1	FC CAL. 12	4/0	Perfect Binding	piece	679.00	128	86,912.00
Learning Areas References	Earth Science	JHS/SHS	Rex Bookstore, Inc.	Cardenas, Chastine	978-621-04-2741-7	2022	8.25x10.75	176	Mechanical bond	4	FC Cal. 12	1/1.	Perfect binding	piece	620.40	126	78,170.40
Learning Areas References	Earth Science and Life Science	JHS/SHS	Rex Bookstore, Inc.	Pastor, Crist John M. and Pelgone Alfons Jayson O.	978-621-04-3877-2	2022	8.25x10.75	232	Mechanical bond	4	FC Cal. 12	1	Perfect binding	piece	627.00	128	80,256.00
Learning Areas References	Empowerment Technologies	JHS/SHS	Rex Bookstore, Inc.	Elimar Ravina	978-621-04-2740-0	2022	8.25x10.75	224	Mechanical bond	1/1	FC Cal. 12	4/0.	Perfect Binding	piece	612.70	129	79,038.30
Learning Areas References	Fundamentals of Accountancy, Business, Management	JHS/SHS	Rex Bookstore, Inc.	Salazar, Dani Rose C.	978-621-04-2096-8	2021	8.25x10.75	248	Newsprint	4	FC Cal. 12	4	Perfect binding	piece	576.40	125	72,050.00
Learning Areas References	General Biology 1	JHS/SHS	Rex Bookstore, Inc.	Maria Angelica D. Rea, et al	978-971-23-8012-9	2020	8.25x10.75	256	Mechanical bond	4	FC Cal. 12	1	Perfect binding	piece	500.50	125	62,562.50
Learning Areas References	General Biology 2	JHS/SHS	Rex Bookstore, Inc.	Maria Angelica D. Rea; Nikki Heherson A. Dagamac	978-6211-04-0428-9	2020	8.25x10.75	304	Mechanical bond	4	FC Cal. 13	1	Perfect binding	piece	563.20	125	70,400.00
Learning Areas References	General Chemistry	JHS/SHS	Rex Bookstore, Inc.	Josefina Belen	978-621-04-3879-6	2022	8.25x10.75	440	Mechanical bond	4	FC Cal. 14	1	Perfect binding	piece	679.80	125	84,975.00
Learning Areas References	General Chemistry	JHS/SHS	Rex Bookstore, Inc.	Josefina Belen	978-621-04-4105-5	2022	8.25x10.75	312	Mechanical bond	4	FC Cal. 14	1	Perfect binding	piece	541.20	125	67,650.00
Learning Areas References	Handicraft Volume II	JHS/SHS	Rex Bookstore, Inc.	Basbas, John Gabrielle D., et.al	978-971-8003-7	2017	7x10	160	Newsprint	4/0	FC Cal. 12	1/1.	Perfect binding	piece	425.70	122	51,935.40
Learning Areas References	Housekeeping	JHS/SHS	Rex Bookstore, Inc.	Urbiztondo, Laarni, et al	978-971-23-9891-9	2019	7x10	272	Newsprint	4/0	FC Cal. 12	1/1.	Perfect binding	piece	544.50	126	68,607.00
Learning Areas References	How to Succeed in the 21st Century Work Environment	JHS/SHS	Rex Bookstore, Inc.	Bernardo, Sr. Felicitas, Et al	978-971-23-9358-7	2019	7x10	248	Newsprint	4	FC Cal. 12	1/1.	Perfect Binding	piece	493.90	125	61,737.50
]		1	l		l		<u>I</u>	1		1		I	<u>I</u>			864,294.10

						Copyright			Insid	e Pages	Co	ver					
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area References (Science and Technology)	Say No To Air Pollution	K-12	ABC Educational Development Center Children's Books, Inc.	Written by Albert Arom	978-971-0492-817	2025	10" x 9"	24	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	265.00	90	23850
Learning Area References (Science and Technology)	Say No To Land Pollution	K-12	ABC Educational Development Center Children's Books, Inc.	Written by Albert Arom	978-971-0492-824	2025	10" x 9"	24	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	265.00	90	23850
Learning Area References (Science and Technology)	Say No To Noise Pollution	K-12	ABC Educational Development Center Children's Books, Inc.	Written by Albert Arom	978-971-0492-800	2025	10" x 9"	24	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	265.00	90	23850
Learning Area References (Science and Technology)	Say No To Water Pollution	K-12	ABC Educational Development Center Children's Books, Inc.	Written by Albert Arom	978-971-0492-831	2025	10" x 9"	24	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	265.00	90	23850
Learning Area Reference (Science and Tech.)	Let's Save Animals	K-12	ABC Educational Development Center Children's Books, Inc.	Written by Albert Arom	978-971-0492-787	2025	10" x 9"	24	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	265.00	90	23850
Learning Area References (Science and Technology)	Let's Save Food	K-12	ABC Educational Development Center Children's Books, Inc.	Written by Albert Arom	978-971-0492-770	2025	10" x 9"	24	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	265.00	90	23850
Learning Area References (Science and Technology)	Let's Save Fuel and Electricity	K-12	ABC Educational Development Center Children's Books, Inc.	Written by Albert Arom	978-971-0492-794	2025	10" x 9"	24	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	265.00	90	23850

						Copyright			Insid	e Pages	Co	ver					
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area References (Science and Technology)	Let's Save Trees and Paper	K-12	ABC Educational Development Center Children's Books, Inc.	Written by Albert Arom	978-971-0492-756	2025	10" x 9"	24	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	265.00	90	23850
Learning Area References (Science and Tech.)	Let's Save Water	K-12	ABC Educational Development Center Children's Books, Inc.	Written by Albert Arom	978-971-0492-763	2025	10" x 9"	24	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	265.00	90	23850
Learning Area References (Social Science)	Ako Ay Pilipino Mahahalagang kaugaliang Pilipino	K-12	ABC Educational Development Center Children's Books, Inc.	Mary Ann A. Ordinario	978-971-0492-916	2025	7"x 10"	36	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	265.00	90	23850
Learning Area References (Social Science)	Learning About The Philipines	K-12	ABC Educational Development Center Children's Books, Inc.	Mary Ann A. Ordinario	978-971-0492-909	2025	10" x 9"	32	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	265.00	90	23850
Learning Area References (Social Science)	Daniel In The Lion's Den	K-12	ABC Educational Development Center Children's Books, Inc.	Mary Ann A. Ordinario	978-971-0492-701	2025	8"x11"	16	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	250.00	90	22500
Learning Area References (Social Science)	Jesus Feeds 5000 People	K-12	ABC Educational Development Center Children's Books, Inc.	Mary Ann A. Ordinario	978-971-0492-695	2025	8"x11"	16	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	250.00	90	22500
Learning Area References (Social Science)	Jesus Heals The Blind	K-12	ABC Educational Development Center Children's Books, Inc.	Mary Ann A. Ordinario	978-971-0492-688	2025	8"x11"	16	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	250.00	90	22500

						Copyright			Insid	e Pages	Co	ver					
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area References (Social Science)	Crossing The Red Sea	K-12	ABC Educational Development Center Children's Books, Inc.	Mary Ann A. Ordinario	978-971-0492-657	2025	8"x11"	16	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	250.00	90	22500
Learning Area References (Social Science)	Jesus Raises Lazarus From The Dead	K-12	ABC Educational Development Center Children's Books, Inc.	Mary Ann A. Ordinario	978-971-0492-671	2025	8"x11"	16	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	250.00	90	22500
Learning Area References (Social Science)	Jesus Walks On Water	K-12	ABC Educational Development Center Children's Books, Inc.	Mary Ann A. Ordinario	978-971-0492-664	2025	8"x11"	16	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	250.00	90	22500
Learning Area References (Social Science)	Bulul	Kinder 1-3	ABC Educational Development Center Children's Books, Inc.	Mary Ann Ordinario	978971-0492-558	2021	10" x 9"	32	C2s 80	Full Colors	C2s 180	Full Colors	Perfect	piece	291.50	90	26235
Learning Area References (Social Science)	A Whale In Prison	Kinder 1-3	ABC Educational Development Center Children's Books	Mary Ann Ordinario	978971-0492-589	2024	10" x 10"	32	C2s 80	Full Colors	C2s 180	Full Colors	Perfect	piece	291.50	90	26235
Learning Area References (Social Science)	Barefoot Bulayan	Kinder 1-3	ABC Educational Development Center Children's Books, Inc.	Mary Ann Ordinario	978-971-0492-428	2018	10" x 10"	36	C2s 80	Full Colors	C2s 180	Full Colors	Perfect	piece	291.50	90	26235
Learning Area References (GAD)	l Love Tnalak	Kinder 1-3	ABC Educational Development Center Children's Books, Inc.	Mary Ann Ordinario	978-971-0492-565	2023	10" x 10"	40	C2s 80	Full Colors	C2s 180	Full Colors	Perfect	piece	291.50	90	26235

			I			Copyright		1	Insid	e Pages	Co	ver					
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area References (GAD)	Malong: The Magic Cloth	Kinder 1-3	ABC Educational Development Center Children's Books, Inc.	Mary Ann Ordinario	978-971-0492-367	2016	10" x 10"	36	C2s 80	Full Colors	C2s 180	Full Colors	Perfect	piece	291.50	90	26235
Learning Area References (Reading Numeracy and Digital Literacy)	The Pencil Who Would Not Write	Kinder 1-3	ABC Educational Development Center Children's Books, Inc.	Mary Ann Ordinario	978-971-0492-404	2019	10" x 10"	32	C2s 80	Full Colors	C2s 180	Full Colors	Perfect	piece	291.50	90	26235
Learning Area References (GAD)	Mom's Best Playdough Activities: Farm Animals	Kinder 1-3	ABC Educational Development Center Children's Books	Mary Ann Ordinario	978-971-0492-510	2023	7.5" x 9"	32	C2s 80	Full Colors	C2s 180	Full Colors	Perfect	piece	275.00	90	24750
Learning Area (GAD)	Mom's Best Playdough Activities: Wild Animals	Kinder 1-3	ABC Educational Development Center Children's Books	Mary Ann Ordinario	978-971-0492-527	2023	7.5" x 9"	32	C2s 80	Full Colors	C2s 180	Full Colors	Perfect	piece	275.00	90	24750
Learning Area References (GAD)	My Muslim Friend	Kinder 1-3	ABC Educational Development Center Children's Books, Inc.	Mary Ann Ordinario	978-971-92177-25	2006	7" x 9"	32	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	187.00	90	16830
Learning Area References (GAD)	Dearest Papa	Kinder 1-3	ABC Educational Development Center Children's Books	Mary Ann Ordinario	978-971-0492-411	2018	10" x 10"	44	C2s 80	Full Colors	C2s 180	Full Colors	Perfect	piece	291.00	90	26190
Learning Area References (GAD)	Don't Take My Colors Away	Kinder 1-3	ABC Educational Development Center Children's Books	Mary Ann Ordinario	978-971-0492-350	2023	10" x 9"	32	C2s 80	Full Colors	C2s 180	Full Colors	Perfect	piece	291.00	90	26190

	1					Copyright			Insid	e Pages	Co	ver					
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area References (Reading Numeracy and Digital Literacy)	EL and EY The Adventurous Shells	Kinder 1-3	ABC Educational Development Center Children's Books, Inc.	Mary Ann Ordinario	971-92177-82	2003	7" x 9"	36	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	187.00	90	16830
Learning Area References (Reading Numeracy and Digital Literacy)	Flying Trash	Kinder 1-3	ABC Educational Development Center Children's Books	Mary Ann Ordinario	978-971-92177-56	2001	7" x 9"	32	C2s 80	Full Colors	C2s 180	Full Colors	Saddle Stitch	piece	187.00	90	16830
																	707,130.00
Learning Area References (GAD)	Art Skills Builder	Kinder-Grade 3	St. Matthew's Publishing Corporation	Rowena V. Dagdag and Aileen O. Ruivivar	978-971-625-410-5	2019	10.75 x 8.25 in.	112	Book Paper	One Color	Foldcote	Full Color	Perfect Binding	piece	320.38	90	28833.75
Learning Area References (GAD)	Awtor Ako!: Malikhaing Pagsulat, Malikhaing Kabataan	Kinder-Grade6	St. Matthew's Publishing Corporation	Gonzales, Och	978-971625-444-0	2020	8"x8"inches	32	Coated 2 Sides	4/4 Full color	Foldcote 12	4/0 (full color)	Saddle Stitched	piece	319.00	90	28710
Fiction Book (Reading)	Bantay: The Cat Who Wants to Be a Dog	Kinder-Grade 4	St. Matthew's Publishing Corporation	Dr. Felicidad N. Remo and Dr. Luzviminda L. Ona	978-971-625-408-2	2019	10.75 x 8.25 in.	112	Book Paper	One Color	Foldcote	Full Color	Perfect Binding	piece	320.38	90	28833.75
Learning Area Reference (Science and Technology	Bayani Biographies: Andres Bonifacio	Kinder-Grade 4	St. Matthew's Publishing Corporation	John Ray Ramos, Michael Charleston "Xiao" Chua	978-971-625-422-8	2019	195x135mm	112	Book paper 70 GSM	1/1 One Color	Foldcote 12	4/0 (full color)	Perfect Binding	piece	352.00	90	31680
Learning Area Reference (Science and Technology	Bayani Biographies: Apolinario Mabini	Kinder-Grade 4	St. Matthew's Publishing Corporation	Marie Tess Paqueo Andoy- Flauta and Marie Karr Paqueo Andoy- Gladfelter	978-971-625-409-9	2019	10.75 x 8.25 in.	112	Book Paper	One Color	Foldcote	Full Color	Perfect Binding	piece	320.38	90	28833.75

						Copyright			Insid	e Pages	Co	ver			1		
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area Reference (Science and Technology	Bayani Biographies : Gregoria de Jesus	Kinder-Grade 4	St. Matthew's Publishing Corporation	Marie Tess Paqueo Andoy- Flauta and Marie Karr Paqueo Andoy- Gladfelter	978-971-625-412-9	2019	10.75 x 8.25 in.	112	Book Paper	One Color	Foldcote	Full Color	Perfect Binding	piece	320.38	90	28833.75
Learning Area Reference (Science and Technology	Bayani Biographies: Jose Rizal	Kinder-Grade 4	St. Matthew's Publishing Corporation	Evasco, Eugene Y.	978-971-625-395-5	2018	8"x8"inches	32	Coated 2 Sides	4/4 Full color	Foldcote 12	4/4 (full color)	Saddle Stitched	piece	319.00	90	28710
Learning Area Reference (Science and Technology	Bayani Biographies: Teresa Magbanua	Kinder-Grade 4	St. Matthew's Publishing Corporation	Tan, Alvin Gale	978-971-625-368-9	2017	8"x8" inches	32	Coated 2 Sides	4/4 Full color	Foldcote 12	Full Color 4/0	Saddle Stitched	piece	319.00	90	28710
Learning Area Reference (Science and Technology	Cooking 101: For Kids and Kids-at Heart	Kinder-Grade 4	St. Matthew's Publishing Corporation	Gonzales, Och	978-971-625-444-0	2020	8"x8"inches	32	Coated 2 Sides	4/4 Full color	Foldcote 12	4/0 (full color)	Saddle Stitched	piece	319.00	90	28710
Learning Area Reference (Science and Technology	Desserts 101: For Kids and Kids-at Heart	Kinder-Grade 4	St. Matthew's Publishing Corporation	Arthur Riel Cabezas	978-971-625-527-0	2025	8 x 8 inches	32	Coated 2 Sides	4/4 (full color)	Foldcote 12	4/0 (full color)	Saddle Stitched	piece	319.00	90	28710
Learning Area Reference (Reading, Numeracy, and Digital Literacy)	Discover Baybayin	Grades 1-6	St. Matthew's Publishing Corporation	Wikan Satriati	978-971-625-523-2	2025	8 x 8 inches	32	Coated 2 Sides	4/4 (full color)	Foldcote 12	4/0 (full color)	Saddle Stitched	piece	319.00	90	28710
Fiction Book (Reading)	Drawing on the Walls	Kinder-Grade 3	St. Matthew's Publishing Corporation	Schimel, Lawrence	978-971-625-447-1	2021	8"x8"inches	32	Coated 2 Sides	4/4 Full color	Foldcote 12	4/0 (full color)	Saddle Stitched	piece	319.00	90	28710
Fiction Book (Reading)	Every Sunday: A Story on Learning Sign Language	Grades 1-6	St. Matthew's Publishing Corporation	Rodriguez, Bambi A.	978-621-061-155-7	2023	8.5"x8.5" inches	36	Coated 2 Sides	4/4 Full color	Coated Board 230 gsm	Full Color 4/1	Saddle Stitched	piece	517.00	90	46530
Fiction Book (Reading)	Filipino Skills Builder	Grades 1-6	St. Matthew's Publishing Corporation	Gaspar, Anna Liza M.	978-971-625-370-2	2017	8"x8" inches	32	Coated 2 Sides	4/4 Full color	Foldcote 12	Full Color 4/0	Saddle Stitched	piece	319.00	90	28710

						Copyright			Insid	e Pages	Co	ver					
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colore	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
Learning Area Reference (Reading, Numeracy, and Digital Literacy)	Math Skills Builder	Kinder- Grade 4	St. Matthew's Publishing Corporation	Bambi Eloriaga- Amago	978-971-625-499-0	2023	8"x8" inches	32	Coated 2 Sides	4/4 Full color	Foldcote 12	Full Color 4/0	Saddle Stitched	piece	319.00	90	28710
Learning Area References (Reading)	Reading Skills Builder	Kinder-Grade 4	St. Matthew's Publishing Corporation	Natasha Kintanar	978-971-625-397-9	2018	195x135mm	96	Book paper 70 GSM	1/1 One Color	Foldcote 12	4/0 (full color)	Perfect Binding	piece	352.00	90	31680
Learning Area References (Reading)	Writing Skills Builder	Kinder-Grade 3	St. Matthew's Publishing Corporation	Meria, Fiel John	978-971-625-425-9	2019	165x150mm	96	creambook paper subject to change to Book paper70GSM	1/1 One Color	Foldcote 12	4/0 (full color)	Perfect Binding	piece	330.00	90	29700
Learning Area Reference (Science and Technology)	Plant With Me: A Beginner's Guide to Gardening	Grades 1-4	St. Matthew's Publishing Corporation	Maluya, Vishnu	978-971-625-487-7	2023	8"x5.25"	144	BookPaper 70gsm	1/1 One Color	Foldcote 12	4/0 (full color)	Perfect Binding	piece	320	90	28800
Learning Area Reference	Too Loud! Soothing Sensory Overload with Music	Grades 1-4	St. Matthew's Publishing Corporation	Racho, Ma. Rosario	978-971-625-371-9	2017	165x150mm	112	Book paper 70 GSM	1/1 One Color	Foldcote 12	Full Color 4/0	Perfect Binding	piece	330.00	90	29700
Learning Area Reference (Science and Technology)	The Small Big Book of Dogs	Kinder-Grade 3	St. Matthew's Publishing Corporation	Rogers, Ransom	978-971-625-372-6	2017	165x150mm	112	Book paper 70 GSM	1/1 One Color	Foldcote 12	Full Color 4/0	Perfect Binding	piece	330.00	90	29700
																	321,963.75
LAR - English	Developing Reading Power 4th Edition - Kinder	Kindergarten	St. Mary's Publishing Corporation	Jerry Vicente S. Catabijan /	978-971-013-211-9	2024	8.25"x10.75"	162	Bookpaper #50	1 color	Foldcote Cal.12	Full	Perfect	piece	660	90	59400
LAR - English	Developing Reading Power 4th Edition - Grade 1	Grade 1	St. Mary's Publishing Corporation	Clemence U. Abadilla	978-971-013-142-6	2020	5.5"X8.25"	208	Bookpaper #50	1 color	Foldcote Cal.12	Full	Perfect	piece	660	90	59400
LAR - English	Developing Reading Power 4th Edition - Grade 2	Grade 2	St. Mary's Publishing Corporation	Capili, Condez, Logue, Ferrer	978-971-013-143-3	2020	5.5"X8.25"	213	Bookpaper #50	1 color	Foldcote Cal.12	Full	Perfect	piece	660	90	59400

						Copyright			Inside	Pages	Co	ver					
Type of SLR	Title	Category	Publisher/ Distributor	Author/s	ISBN	Year/ Date of Publication	Size (L x W)	No. of Pages	Type of Paper Used	Colors	Type of Paper Used	Colors	Binding	Unit	Unit Price	Quantity	Total Cost
LAR - English	Developing Reading Power 4th Edition - Grade 3	Grade 3	St. Mary's Publishing Corporation	Capili, Condez, Logue, Ferrer	978-971-013-184-6	2022	5.5"X8.25"	365	Bookpaper #50	1 color	Foldcote Cal.12	Full	Perfect	piece	660	90	59400
																	237,600.00
LAR - Health	GOOD HABITS (HEALTH)	K-3	Lampara Publishing House Inc.		978-971-518-952-1	2022	8X10.5	24	BOOK 60	Full Colors	FOLDCOTE 12	Full Colors	SADDLE STITCH	piece	129.75	90	11677.5
LAR - Health	GOOD HABITS (NUTRITION)	K-3	Lampara Publishing House Inc.		978-905-564-491-9	2022	8X10.5	24	BOOK 60	Full Colors	FOLDCOTE 12	Full Colors	SADDLE STITCH	piece	129.75	90	11677.5
LAR - Health	MAGING LIGTAS SA CORONA VIRUS	K-3	Lampara Publishing House Inc.	EUGENE Y. EVASCO	978-971-518-927-9	2020	8X9	32	MATTE 80	Full Colors	FOLDCOTE 12	Full Colors	PERFECT	piece	199.75	90	17977.5
LAR - Health	ANG BATANG GALIT SA LAMOK	K-3	Lampara Publishing House Inc.	SEGUNDO D. MATIAS JR.	978-971-518-732-9	2013	8X9	32	MATTE 80	Full Colors	FOLDCOTE 12	Full Colors	PERFECT	piece	199.75	90	17977.5
LAR - Health	INHALE, EXHALE	K-3	Lampara Publishing House Inc.	BECKY BRAVO	978-971-518-866-1	2018	8X9	32	MATTE 80	Full Colors	FOLDCOTE 12	Full Colors	PERFECT	piece	199.75	90	17977.5
			•					•						•	•	•	59,310.00

TOTAL 8,463,718.00

Lot 2 - Globes, Maps, & Charts

Type of SLM	Publisher	Unit	Unit Price	Quantity	Total Cost
Globe	Book on Wheels Enterprise, Inc.	piece	9,950.00	67	666,650.00
Political Map of the Philippines	Book on Wheels Enterprise, Inc.	piece	2,850.00	77	219,450.00
Disaster Risk Reduction Management	Book on Wheels Enterprise, Inc.	piece	2,850.00	74	210,900.00
Evolution of the Philippine Flag	Book on Wheels Enterprise, Inc.	piece	2,850.00	71	202,350.00
Pagtugon sa Anumang Sakuna	Book on Wheels Enterprise, Inc.	piece	2,850.00	70	199,500.00

1,498,850.00

LIST OF DELIVERY DROP-OFF POINTS

PROCUREMENT AND DELIVERY OF SUPPLEMENTARY LEARNING RESOURCES TO FUNCTIONAL ELEMENTARY AND SECONDARY SCHOOL LIBRARIES IN DEPED SCHOOLS DIVISION OF DAVAO ORIENTAL (LOTS 1-2)

	DISTRICT	NAME OF SCHOOL	ADDRESS
1	Baganga North District	Lambajon Central Elem.	Lambajon,
		School	Baganga,Davao Oriental
2	Baganga South District	Baganga Central Elem. School	Poblacion, Baganga,Davao
			Oriental
3	Boston District	Boston Central Elem. School	Poblacion, Boston, Davao
			Oriental
4	Caraga North District	Caraga Central Elem. School	Poblacion, Caraga,Davao
<u> </u>			Oriental
5	Caraga South District	San Jose Central Elem. School	San Jose, Caraga, Davao
	Coto I District	Geterl Gentrel Plans Geterl	Oriental
6	Cateel 1 District	Cateel Central Elem. School	Poblacion, Cateel, Davao Oriental
7	Cateel 2 District	San Rafael Integrated School	San Rafael, Davao Oriental
'	Cateel 2 District	San Raiaei integrated School	San Raiaei, Davao Orientai
8	Manay North District	Gregorio Moralizon Elem.	Poblacion, Manay Davao
		School	Oriental
9	Manay South	Ronquillo Dayanghirang Elem.	San Ignacio, Manay,
		School	Davao Oriental
10	Tarragona District	Tarragona Central Elem.	Población, Tarragona,
		School	Davao Oriental
11	Banaybanay District	Banaybanay Central Elem	Poblacion, Banaybanay,
			Davao Oriental
12	Governor Generoso	Sigaboy Central Elem	Sigaboy Davao Oriental
	North District		
13	Governor Generoso	Luzon Central Elem. School	Luzon, Governor
	South District		Generoso, Davao Oriental
14	Lupon East District	Macangao Central Elem.	Limbahan, Lupon, Davao
		School	Oriental
15	Lupon West District	Comarra T. Manuel Central	Poblacion, Lupon, Davao
10	Con Inidae Worth	Elem	Oriental
16	San Isidro North District	Batobato Central Elem. School	Batobato, San Isidro, Davao Oriental
17	San Isidro South	Ditagram Control Flore Cohest	
17	District	Bitaogan Central Elem. School	Bitaogan, San Isidro, Davao Oriental
1	District		Davao Orientai

Section VIII. Checklist of Technical and Financial Documents

Checklist of Technical and Financial Documents

	Class "A" Documents
Legal Do	
(a)	Valid PhilGEPS Registration Certificate (Platinum Membership) (all pag
(u)	in accordance with Section 8.5.2 of the IRR;
(b)	Registration certificate from Securities and Exchange Commission (SEC) corporations, Department of Trade and Industry (DTI) for supporting proprietorships, Cooperative Development Authority (CDA) cooperatives, or any proof of such registration as stated in BDS;
(c)	Mayor's Permit issued by the city or municipality where the principal plo of business of the prospective bidder is located;
(d)	Tax Clearance
(e)	Audited financial statements showing, among others, the prospective to and current assets and liabilities of the bidder "RECEIVED" by the Bure of Internal Revenue (BIR) or its duly accredited and authorized institutio for the preceding calendar year which should not be earlier than two (2) yes from the date of submission (for transactions amounting to Php 500,000 and above only. If submitted during previous transactions, attach photocopy;
	Class "B" Documents
(f)	If applicable, a duly signed joint venture agreement (JVA) in case the joventure is already in existence <u>or</u> duly notarized statements from all potential joint venture partners stating that they will enter into and abide the provisions of the JVA in the instance that the bid is successful.
Technica	ul Documents
(g)	Statement of the prospective bidder of all its ongoing government and prive contracts, including contracts awarded but not yet started, if any, whet similar or not similar in nature and complexity to the contract to be bid; a
(h)	Statement of the bidder's Single Largest Completed Contract (SLCC) similar to the contract to be bid, except under conditions provided for in Section 23.4.1.3 and 23.4.2.4 of the 2016 revised IRR of RA No. 9184, within relevant period as provided in the Bidding Documents; and
(i)	Original copy of Bid Security. If in the form of a Surety Bond, submit als certification issued by the Insurance Commission <u>or</u> Original copy Notarized Bid Securing Declaration; <u>and</u>
(j)	Conformity with the Technical Specifications, which may include production/delivery schedule, manpower requirements, and/or after sales/parts, if applicable; and
(k)	Original duly signed Omnibus Sworn Statement (OSS) <u>and</u> if applical Original Notarized Secretary's Certificate in case of a corporati

	partnership, or cooperative; or Original Special Power of Attorney of all members of the joint venture giving full power and authority to its officer to sign the OSS and do acts to represent the Bidder.
(1)	Latest Income and Business Tax Returns
(n	n) Proof of payment of BIR income tax
(n	Organizational Chart with actual names of personnel of the company/organization
(0	Proof of site visit such as Certificate of Appearance and Pictures
Finai	ncial Documents
(p	The prospective bidder's computation of Net Financial Contracting Capacity (NFCC) <u>or</u> A committed Line of Credit from a Universal or Commercial Bank in lieu of its NFCC computation.
II. FINA	NCIAL COMPONENT ENVELOPE
r)	Original of duly signed and accomplished Price Schedule(s).
Remarks:	
: PA	SS
: FA	IL

